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1. 3*4@3@&%3,43611:?%% "L@@
3HAT AR, 4 a2
3@AFdR 3, 4w R @@4@
3&4FIAR3, 4R AT R~/

3+4FH R, 4TI
L@M&N#O0+P *Q#R ¥ 370K,

(A) st By T
3 * 4 means 3 is the mother of 4.

3 # 4 means 3 is the father of 4.

3 @ 4 means 3 is the brother of 4.
3 & 4 means 3 is the daughter of 4.
3 + 4 means 3 is the son of 4.

Accordingto L@M & N#0+P *Q #ﬂ, how is M related to R ?

3 e R Heifera 8 2
R © - (D) =T

Tl

Q#Q#G@

i D) Uncle
(A) Niece (B) Aunt (C) Nephew (
| 2. X ST T R g et o 6 e o o g e R Y S ST et 2 1 e e o
- forr o it i smo st 2 -
(A) afer B) @)/'?m (D) =ferorufing

w Ramy put his timepiece on the table in ﬂﬁ:‘ﬂh a way that at 6 p.m. the hour hand points towards the South,
' Then towards which direction will the m&ljlte hand be pointing ?

| (A) South (B) East q (C) North (D) South-West
| 3. fowmgm gm i o ‘

(A) S : IS (B) sRifiex : g1

((;) ﬁ'ltl‘—'T‘itﬁHNTﬂ?I h \(DY T I ; IR

Find the odd pair : G

(A) Balance : Mass (B) Barometer : Pressure

(C) Thermometer : Temperature <] (D) Screw gauge : Volume

4. YGAT1,2,6,24, W 3T HEAt gid Hifw |

! Find the next number in the serigs 1, 2, 6, 24, i

(A) 60 120 (C) 48 (D) 84
5. B s 15 a1, 2022 % o ot | el o A Ry SR ) wE 1 =1 < forw fo o
oqr ?
(A) TIEER (B) Taamw o \y/ BIETIS (D) FER
Siva was born on April 15, 2022. The sz{@: year Independence day was celebrated on Monday. On which
day was Siva born ? Ik
(A) Tuesday (B) -Sunday - (©) Friday (D) Wednesday
6. I frem Y o & A F T F wpwan g e
(4) = (B) == (©) foar \(DYareT

How is my father’s sister’s son’s father’s ﬁther-in-law related to me ?
(A) Grandmother (B) Uncle (C) Father, , - i+ +(D) Grandfather
7. 3R Wz CATASTROPHE ¥ aaﬁaﬁaﬂwmmﬁgq:a}a@ﬁ fepar ST 2, T Qe % wTe & a1 S

¢ " If the letters in ‘the word CATASTROPHE aré rearranged in the alphabt-t‘icai order, which one will be in
| the middle in order after the rearrangement ?
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g. dfe FEMALE_a?r 654135 %wﬁwﬁmw%a‘rwmaﬁt_ﬁw,@?m |

If FEMALE is coded as 654135, then LEAF will be coded as

(A) 3526 (B) 3625 \&Y 3516 (D) 6523 P AY
9. R P3N QT A 5 : 6 3 Q iR R AT S 14 : 15 &, T P ST R H ST 1 T 2 (1S
IszmanreintheratioS:6ananndRarca<ithheratio14:lS,thenPande1llbemlheralio: S )
(A) 9:7 (B) 8:7 o3 \(9/7:9 Gore (D) 7:8 t QP
wwaﬁf\aammw\mm1sﬁ@a:‘m“m%mw@3ﬁwﬁ5°mmw4i%'. Ty
. e e e gfa o 8,48 1 4
T ST 5 o 3 e T e R GO i € | R ARAAL IR LTE? Ty y 0y

300 fepft ® 250fm (0 200 Pt (D) 220 ft 451 42535

A bus is going to Coimbatore from Kochi. Wi?,:él stops of 15 minutes each, the average speed of the bus
comes out to be 50 km/hr. But if the driver tak sthe bus without any stops, the average speed comes out to
be 60 km/hr. How far is Coimbatore from Koc

T V¢
@ (A) 300 km (B) 250 km U (C) 290 km (D) 220km & S?r A

B Ittt i i i i
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10______ _____{,J _________
0 ; — , ,
2000 (] 2001
JeaTferd ShIll ot el §EAT = 350000 7T SeTICd R < e HEAT = 440000 T
Total No. of Cars Produced = 350006:] Total No. of Cars Produced = 440000 —_—

mﬁmwagaﬁ@(anirré)@m;mztﬁﬁﬁﬁam -3 ThT hl SHT 1 Uferera gomtar |
af 2001 P SRR T FRT T Ie1ee St 20002 T Brer, ¥ 2001 7 I P 5HT 1 1 5 oy ey
et ? <|

The Bar chart given above shows the percentage of six different types of cars manufactured by a company
over two years. If the percentage production of P type cars in 2001 was the same
would be the number of P type cars produced in 2001 ?

(A) 132000 (B) 225000 (C) 120000

as that in 2000, then what

(D) 145000
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12. @ 13,3 ..w,_ﬁmd@rmaﬁﬁm \ 6 C 9
~ Find_the \Rx®Wn®lr in the series 13, 32, 57,88, . “ \/ -
“125 (B) l36?’,; o n (€) 110 (D) 132 \q
V13, STHNT TEAT I AR | P2 PN
' Find the dissimilar number. c 6
b 216, 343, 504, 512, 729
(A) 216 BT 504, (© si2 (D) 729

L 4 ﬂ%ﬁmwwmaﬁzow#%ﬁ%ﬁwmﬁﬁﬁ?}ﬁ%ﬁ?wmwmmﬁl -

)
. 3

L. ."‘3 = h
P TP Q 17.5
- _ >
E 154 = <
10
: ‘E"‘O' 75 7.5 '
A R 0- : ! -
QRN % 3
gf‘f 3 ; g 2k &k 65 wals
Vol .2 Qp G 055 xaks
> T N5 T E 1So0o0
65 O %m%,g
| e ForTom T e % 2,55 01 ©, @ qitae ST o W FE b offe oh ST TR ?
%0 A) TS05TM@  \ (Bf 425 © z32.57m@ (D) T35.5T@

The bér graph given below displays the percentage {Estribution of a company’s total expenditure across
various expense categories for the year 2013.
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If the expenditure on advertisement is T 2.55 crores, then the difference between the expenditure on
transport and taxes is :

. (A) 505 lakhs (B) T42.5 lakhs (C) T32.5 lakhs (D) %35.5 lakhs
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15.

16.

17.

19.

20.

21.

3 B UTET

g3
e e o i & sreer R s, A afvr-afim Y s g S s 2
(A) Iwufim (B) ufim (€) sy (DY I
If East is replaced by West, then South-West will be replaced by :
(A) North-West (B) West (C) South-East (D) North-East
@ 21 1\.}27\,33%;41, \§ i erreht e m ATl
Find the ekt nugnbe@in the series 211, 227, 233, 2@ S v (9218 523
(A) 263 By 257 odC) 251 (D) 277

?Iﬁ'-SCREWa?rRCSWE%mﬁ%@TW%,ﬂ‘LNﬁsaﬁmm%@Tm: Toh

If SCREW is written as RCSWE, then NAILS will B written as :
(A) AILNS (B) IANSL ({c) NAISL \(By INALS

U SRR e 1 S ST oS F: 8 1 7 AT | FTefRe T HETR T SAfh, 39 A % uia:
afmTg % argfeer 28.8 /e A i A 2.5 i G TR T T © | £ T ST T E ?

(A) 89600 = =, (B) 84600 T T, <o) 79600 . (D) 99600 1 .

A rectangular field has its length and breadth in the ratio of 8 : 7 respectively. A man riding a bicycle, )

completes one lap of this field along its perimeter at the speed of 28.8 km/hr in 2.5 minutes. What is tP‘g‘ :

area of the field ? .

(A) 89600 sq. m (B) 84600 sq. m S:) 79600 sq. m (D) 99600sq.m & 'y ,32
: 224

ﬁqrrc{w‘mgmg_ugg”ﬁuﬁsﬁamﬁmﬁaﬂaﬂw%%mﬁm@mﬁﬁm#m| N %

Identify the correct alternative that indicates the n@ber of times each letter appears in the given word 1—%
““INCIDENCE”’.

H
(A) I N; C; D Ey \/65)/121‘12.02131132 {§) LN C D Ep (D) LN, Cy Dy Ey

aMx>y=x}+y@x@y=x -y, T3> Qa@H= ;
Ifx>y=x3+y3andx@y=x3—y3,then3>(2@ﬁ])= 72 Q)+ 527
(A) 400 (B) 280 370 (D) 420 R+
) 17 STl T SHE STeAT ShifoTg 3Tt It STt H & a formed GRT ST S SATRiaEt § 9@ T
Y AT T & | 4s 2
Study the given figures carefully and choose an option from the answer figures that maintains the pattern
observed in the problem figures. < Wi
ol ] x| = o|¢ (=D 1S e
A >(o A= o X AT e ? [HY
® o = )] A X O -3?':37
I 1l III v v Ik 2]
C
X A C] PEENe) % 31

= ® | O @)/ A A
% 0" = - W o

eafer 3 e, T ergehr AL fgr ehl a1 ufer & | mﬁﬁrwaﬁ%wéﬁu%?

22.
N2 (B) oI TE (C) el (D) W@
Dhwani said, “This boy is the husband of the granddaughter of my father”. How is Dhwani related to the
boy ?
(A) Granddaughter  (B) Cousin (C) Niece (D) Mother-in-law



23.  FrefcIied & & -1 ¥z R 1 rsq “REACHABLE” 3 el 318 3 et Ueh & ST ot 7@ o

SIEETIER:
Which of the following words cannot be l'onr(é'(j using each letter of the given word “REACHABLE” only
once ? o
CHANGE (B) REACH (| (C) CLEAR . (D) EACH
24, FTATTCRITY Y g4k | "
What is the next term ? (]
B:16::E:? :“
(A) 54 (B) 128 O we§ 62 (D) 64

25. IR @t aris@sFIg? f’]
If ‘@’ stands for ‘<, whatis 15 @5 ?
(A) 10 B 3 (€) 20 (D) 75
26. T T wpeleor Bl HfTe S ok T ST * St aaer o fore v Rt o el s g

Choose the correct sequence of mathematical signs to replace the placeholders * in order to balance the

given equation. <]
S\ (12%7%6) * 132 6 » o
R (A) X, = +,= BY, =, +,= (L © +- = D) + +,—,=
i 24 3 77 7% 4
'2'( 2401 : 343 % GHI T I J1d T | e
¢ Find a pair that is similar to 2401 : 343. :‘{i#i: \ 6,
' \}M/zsszm ¢ (B) 32:4 <";i (C) 216:1916 D) 9:27 '_\(E?’
- , E
28. i fau Tu e o7 Tt 3wy o e forehed Ygentg ; ]

IO feeTraT SATe H AR o f et g it T AT R o | s 3 % a1e I o1 e
317S ok, 717 <6t Rk 15% Afeetrsdl = &1 g & dite e |
Fre .
. it -
L Qs i <HE i i o & H gar ]!m A
I e o 15% USiTepa off ST 3Heh SR QY YGar TeelT-0 o | o
) vt P 11 ST T (1 (B) T Frerd 13T & 11 srgeor wwar
(C) heret foreahd 1 STEROT aT @ Fho (D) A R 1 I STgE S ]
Identify the correct option regarding the stateéle]nt and conclusions given below :
Statement : <
In the rural assembly elections, the ballot box method was used for voting. After the results came
out, it came into light that only 15% of the women in the village voted in the elections.
Conclusions : i
I.  Women didn’t know about the date of the elections. - -
II.  Only those 15% were registered and had a valid voting ID card.
(A) Only conclusion I follows (B) Neither conclusion I nor II follows
(C) Only conclusion I follows (D) Either conclusion I or II follows



29. Tl Ren wwsdt o atieht yraepiar i o s 35 o R AT S St TRt LR 3 -
Arrange the following words as per their order in the English dictionary and choose the one that comes

first :

Elastic; Eldorado; Ejaculate; Electrode .
(A) Eldorado (B) Electrode (C) Elastic \ (P Ejaculate

30, Freffien i & e vis 3 over fish aofamen 7 & €

Which of the following words has its letters in the Epgish alphabetical order ?
' | (D) Acephal

(A) Acepots?{] \@)/‘Acerty 69) Acerous
P qf o arer i S A1) R e ek e I AT
T T Tt o e ST = 3276000 o
— e R i
N e ,
7 7 <]
A 5 3 2 7 25%
« B 3 1 I 4 - 20%
1 8%
o 2 3 2 o | b
D 3 5 3 |o¥ 2 12%
E 3 4 4 9 1 35%

TG A, B;ﬁnﬁ@ﬁ'@'@wﬁqwtﬁ;ﬁ%ﬁ@am%wmﬁﬁ?

Study the following table and answer the question g@n below.
Total population of the given States = 3276000.

u,,t ..

State  Gender Literate | Illiterate | % Population
‘ M F
A 5 3 2 7 25% -
FAl™
B 3 1 AL 20%
C 2 3 2,100 1 8%
D 3 5 3 E}}:‘ 2 12%
E 3 4 4 g 1 35%

What will be the percentage of total number of mal%i- in States A, B and D together, to tﬁe total population
of all the given states ? ] ,

4
(A) 31.15% 0 (B) 35.1% (©) 30% - (D) 30.2%



32, Wi, 3 wor i Fafirdt e e e @ iR ?

O
o3 13 b
O agox2t 2
3+ Teo >kl g
a P=g _}j]:' ~ ,
H 2:4
- : -G ce Sy : OO e
In the corporate sector, what should be the approximafe numbew%egﬂ/e;ﬂﬁ‘f central angle ?
| —omn TR AR
Othe: [YHo 2
4% o3 =L g |
Ba;g ' ;Qiri XP"%
2 Q \7 ) ,'lb;f{

W?C\J‘O
\uf&"x\‘}’ A2
—\p %

oy |
| o 1 QFT

A) 121 ®) 123 q © 120 w12 B e

33, @@aﬁz@mm%maﬂt@m@@ﬁ T Y 3t 1A e ek S I AT @ | "
- gl 3R iR e g @ | sheRT: ST Rt o g v R s e 2 7 _

(A) FW-ufzm B) "EH-gE e \(&Y" T I D) qg_aﬁquy
An athlete starts to run positioning his back to:tgfrds the Sun once after sunrise and once before sunset. He

Corporate
Sector
34%

turns left, right and left again. In which directiofi is he finally running in both scenarios 'respectively ?

(A) North—West  (B) West— East (C) South—North (D) East— South
34, IHFAUHRT: R |
Complete the sequence : '
ZA8,Y7B,XC6, WD, e © d
(A) Y4B \B VE4 ©) zA4 (D) W4D |
RKWU-24 T T pee a4 T e
Page 8 of 24 ™M W




35. ﬁmﬁ—r&ga%j@wﬁggq@-{mﬁm: Sk

Find the missing number in the following series : Eet
110, 132, 6, ,210,240
(A) 184%724" (B) 190 (C) 176 D) 182
36. éwrrfﬂrrﬁsrrﬁcmn‘lataam%ﬁwmggm%amsomaﬁtw%laammﬁa%%ﬁaﬁ
\&F sorfe e '1% Q@ e
(©) 41Hdfts®m g o (D) 45X @

* James walks 40 metres in the West dJrectlonG]mS left and walks another 30metres. How terand inwhich
direction is he from his starting point ? Hh '

(A) 50 metres South-West - (] (B) 47 metres South
(C) 41 metres North 5 (D) 45 metres East
3. aﬁmmmﬁmﬁzm%ﬁaﬁwaﬁ ) o1 7T Fpe R A 3@ R E
Y e ® ® 5 (© IN ©)
Which way are you facing now, if you spin 2 degrees clockwise from North at the beginning ? a0
(A) West (B) South (C) North (D) East

38. o IR T e 36 9 7 A 40% m%lﬁmaﬁamﬁﬂaﬁqmﬁmmmmﬁﬁ? ’
' The printed price of an article is 40% higher than its cost price._ Then what is the rate of discount 50 that
the gain is 12% profit ?

A 15% B) 18% o 0% (D) 21%
39. | U 9% A € 1,700 F = R, @Wﬁ@% I 7T Bt 7 | 20%amsrmm%a‘n%rq3ﬁ31:rawaﬁ
e A A 2
On selling an article for 71,700, a shopkee@ loses 15%. To gain 20%, at what pnce must he sell that
+ article ?- :
(A) 2,120 (B) ©2,100 pis (©) f2,155 \AD) 2,400 :
,‘ Ueh & forsha = Ueh Qe i 10% i 517 | TS &% 3 T 1,080 fersh 9T S=rm, A 37 10% 1 A
BT | e Y B A IR | | ‘ WL
A book vendor sold a book at aloss of 10%. Had he sold it for ¥ 1,080 more, he would have earned a préfit. b
_0f 10%. Find out the cost of the book. N ‘ .
G (A) 5,400 (B) 7,400 (C) T4,420 (D) f6,430 . Wiy " .
417 ,@qﬁmﬁsmmmmwaﬂaﬂs 1 u@ﬁw T T AT 6.8 97| 17 W 6 3w dimam A2~ 71, :
“4Fhe average of marks obtained in an examin{lon by 8 students was 5.1 and by 9 or.her students was 6.8, ’
- The a”&erage marks of the 17 students were : o 7 " 4o. Q g, &
: (A) 5. 95’& (B) 6.5 h (©) 5.9 D7 6.0 &y
42 mmmwﬁwaﬂwmé%m@mm{uﬁw%? i AREA +9x 0R
The ayerage of seven consecutive positive m%ers is 126. The smallest of these mtegers is: /l'?)
"§AY 123 (B) 126 (©) 122 LN (D) 135 LA L’ + 34 e

43. @aﬁﬁwaﬂwﬁwws 4%|qﬁ@10€'ﬂamaﬁuoeﬁawﬁﬁmﬁ% fﬁaqqcrm 5 QST @
%lmﬁﬁﬁwﬁmﬁm:ﬁs@aﬁv
70 e @ sFx | (C) soshe ) ZOFﬂE{ | y
The ratio of milk and water in a pot is 3 : 4. If we add 10 litres milk and 10 litres water, then the ratio-, b
. becomes 4 : 5. How much quantity of total mixture was present initially ? - .

(o) 70liwes __(B) 80liwes  ~  (C) SOliwes ™ . (D) 20litres
Kwu.24 IR IT AN Page90f24 ' S T
dy  RE- ’ "“%e, I NG
' —t X+! x-r?_ x—t () < 2 S
22 LU =t 12L

—_— . =
LI T TR A L L , s et at
—_— —_— ‘u ; ". 218 —13 9@) "



o & AR

. .
4. A HRB Wier 2wl ws 3 | AR B Y A 3 I o T ST &, o A 60% g ST € 1 3fE B H A FH A H
BT AT T, Y A 311 B 26 et 1St oY et fohT STt e g ST ?
A and B are two heavy steel blocks. If B is placed on top of A, the weight increases by 60%. How much
weight will reduce with respect to the total weight of A and B, if B is removed from the top of A ?.‘-Gb
KL

(A) 45.5% (B 37.5% @ 60% (D) 40%

45,  WUTOT SATS 9 20 1§ e EAURT = A @ St & Pt 2w g Ak | _ 8
A sum of money becomes four times in 20 years at siyfiple interest. Find the rate of interest. "0 X %, p_
(A) 20% (B) 8% 15% (D) 5% | X2

46 10% %1 T2 3 FH TS 8% o1 T STH e o oTe, 57 vger & ifer s < fore sftvere fe @At <fere 2
To gain 8% after allowmg a discount of 10%, by u@t percent must the marked price be hiked from the

nf  3f CPcostpnce‘?
loo 9o - KA) 11% B 20% @ 19% D) 18%
oo 3TN B T 3T h1 3T 3 : 2 % | 56 I &G, STHT 1Y BT ANTHeT 80 BT | Iehi AT ST (T ) el
, AR
feradt & 2 oexte

' X ,g;l' he ratio of the ages of A and B is 3 : 2. Ten years hence, the sum of their ages will be 80. What are their

ol respective present ages (in years) ? g¢ +° 250 26x26 € 3% Mr SP sy
f . 62¢  GT6 > 9 g
&f 36, o (B) 45,30 C) 27,18 (D) 42,28 |

48. U SIF T 3,825 YN idT & 3N 9% & U e ﬁﬁﬁmm%m%luﬁwﬁgm@rﬁaq
wa) A AT 3T 4% R, T el v w1 g I 1

A doctor borrowed T 3,825 and he returned the money-in two equal yearly instalments. If the annual rat/of

compound interest (compounded annually) is 4%, thes fing the value of each instalment. p e lﬂﬂ'rc? )
(A) T2,377 (B) T1,783 2,028 (D) T2,275 Rep
xty2z D6

<Y G %1 AT 36 @ A STH A.GH. (HCF) 4 € et % fohe T w8 7 12t
T. -—Fﬂz vt The sum of the two numbers is 36 and their HCF is 4. How many pairs of these numbers are possible ?
e @2 s ®) 4 1 (D) 3 Exu = B e
@ Toh XTTIE 23.6 fefml/ee <t =ITet & U wieh i Sl 30 Hehe H U S © | I8eh 916, T TS, 12.4 Terefiyeie =t
g wﬁﬁﬂﬂﬁﬁmﬂaﬁ%aﬁ@wﬁﬁaﬁumﬁwm%lmﬁmﬁm@ﬁm X2

.QS
,\01‘1 ,\gx)/norﬂ (B) 1204t (C) 1504t (D) 105 .
S A train running at 23.6 km/hr takes 30 seconds to pass a platform. Next, it takes 11 seconds to paiw man
walking at 12.4 km/hr in the opposite direction. Fim@e length of the train. OR
26 Ay 110m - (B) 120m | ) 150m D) 105 k)
9 !\{'5'1. "wﬁﬁﬁmmmﬁﬁq@hm 48 37 60 T QUi T At | | &
W/ Find the smallest number which will be completely drwsible by 24, 48 and 60. W 3‘ °
/g AT 240 ®X o - 120 D) 480 L O
w5 53, A Y T A Y 12, 15, 16 30 1 dRe w2 B i e wom Trear € | 9 9w

. m%%%maﬁaﬁsﬁmﬁ ﬁwmﬁﬂw'mﬁml
&Q‘Fj% &I\An officer of the army wants to arrange his soldlers to stand in rows of 12, 15, 16 and 18. If he wants to
- 6
/

~

arrange them in a solid square also, then find the minimum number of soldiers,” <
2R(¥Eyn7
(A) 3600 1440 (C) 180 (D) 900 Te o
.......................................................................................... A
KWU-.24 ) 1’ ‘ Page'IO of 24 ,{ (2, L8 1€,10
o t& R L H)IsgR,d -
A > S T S 05 3 oy
¢ ’ GD E'Uofb e S | a
E \= { o S
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53. U 3 6 FRyeR o 5 PRl o) i @ 31 o wwr R o T W 2 o 1 9R R S 11 @ S

10 Ve 1 g et § | 37 < ify g AR | , .
(A) 20 i/ (B) 17 frefiyeer (C) 16 ferefiyeret (D) 18 fereyere

A train takes 11 seconds and 10 scconds to cross 2 men who are walking in the same direction of the train

at the speed of 6 km/hr and 5 km/hr respectively. Find the speed of the train.
(A) 20 km/hr (B) 17 km/hr (C) 16 km/hr (D) 18 km/hr

54. o WO G A Y 150 R i g o weR & 1 S, 15 w@@r FraRRarfi 3 whmeor 5 165 Rt 3 qur e
T | i AU eht ST we of ; :
165 TR (B) 150 "I © 1003 (D) 1SSTIE e !,
Some workers could complete a work in 150 days. Howeidr, due to the absence of 15 workers it yas/ :
completed in 165 days. Then the initial number of workers : 1Soxe =\¢&
(A) 165 workers (B) 150 workers (C) 1affworkers [&M‘
55. A,Baﬁ10%mﬁ$£rat%wmqﬁ3o,ooomm%?@|saﬂ%mbnﬁTmﬁmmﬁ% |

fra T 40,000 3 T gt wiveran R | O R e it T ﬂ
A lends % 30,000 to B at the rate of 10% per annum on simptd interest. After 5 years, B returned ¥ 40,000

(D) 155 workers

and a watch to settle the dues. Find the price of the watch. : 2 MW
(A) 4,800 (B) %3,200 (C)~€5,000 (D) % 3,000 Tid

56. ASRBTHEFAR 10 R T uR e § | BoCR IsRATRER E I AMRCH RRATRERY g0
T A, B 3R C firerent 5@ o Rt f qu e e €12 ,
(A) 15 (B) 17 © 1087 Py 8 Y

A and B can complete a piece of work in 10 days. B and& can do it in 15 days. A and C can doiit in /
12 days. A, B and C together can complete it in how many days ? '

(A) 15 days (B) 17 days (C) 1tddays (D) 8days PP —1 o ¢

57. mﬁﬁmﬁ%ﬁq—ﬁﬁ%aﬁﬁmmmﬁg 2’_1(&:'!&2.. !:%'Ct
(A) HiSHT-wd K N L S 1 S i S
(C) Iswawr—3FT K - (D) =0 W "
Which of the following pairs of words are most similar in medning ? e L ==
(A) Hard-Easy - | (B) Soft— Gentle iexaz %3
(C) Bright—Dark (D) Buy - Sell

5§ e iy w g o i T A R W 9 € | o, A 3 e it S AT § | e, Tk % Sien <l AR |
¥ et SR M A Y 1§, Wb F AR A IR F S IF T AR AR e L 15
(4) @ B & ©) O Tl gy S 6S

Six friends are sitting in a circle facing the centre. Adam iggiftting to the immediate left of Berty. Charlie is
sitting to the immediate right of Frank. Bettyis sitting bet»(fj:n Adam and Dan. Eve is sitting between Dan

and Frank. Who is sitting to the immediate left of Frank ? }_
(A) Betty (B) Eve (C) Adam (D) Chailie 3
59. RS R 7:15 w0 i R ¥ | 9 o e i gd e AR g 2 {r
127.5 feft o | ®) fdsfaf sz [FET- 18306
©) 130 et R (D) 122.5 feft )5’"" Z MEXIE
A clock shows Ithe time as 7:15. What is the angle between th: hour and the minute hand ? )
(A) 127.5 degrees (&0 '1 ) tso®B) 142.5 degrees * lesz
TR tes o fAs) ) leg® EITEE 1z 159(X8)
KWU-.24 N 24 Page 11 of 24 —ASOX+ ’
'234?‘5&2?,( l Xy tto - '_m? [05.—- ({@ [,6&'
— : —_—
c 1kS 5 Y 147 s 258
b 9 - |5° !



60.  WewE U fifvrg
ﬁ&&q’q‘szﬁﬁﬁzzw:—— -
(A Frot - ® feEmepn (© N
Complete the analogy :

Doctor : Diagnose :: Judge : '
( D) Execute

(A) Judgement (B) Instruct (C) Build
~ <
(1) e cd
Bl (g, i it - faet (]
") @A) i ‘ ("l (B) wfec
(C) widewen ok Dy i
o Complete the analogy : .
VA, e " ki
€\ - v Algebra : Mathematics :: Symphony.: I
‘L
Sutsf (A) Painting (B) Literature
T (C) Sculpture (D) Music

qﬁmmﬁ@ﬁﬁﬁm@éﬁgﬂ)%aﬂtmsﬁﬁﬂﬁm(ﬁﬂ)%ﬁﬁmﬁm
(AT o T 7 e B a‘r:ﬂwmmﬁm)mww%?

v(*f' T (R C‘ ®) @ ()

_} _ (C) Emm(%amm) e (D) =R ()
oh - ‘I't: yog have a regular dodecahedron and you\.hce it in half along a plane that pasies through the centres of
20 - . m S opp051te faces, what is the shape of the cros&section ? x
| _: ; s (A), Hexagon Cl (B) Rectangle
c ©° Decagon (1 (D) Pentagon
63. Ty Hf | )

Find the odd one.




3 e & fFe TR a8 2
64. XA KT Il < g, wfve Y e, <aw Y T o frar A N ¥ | W,

Srr (D) =TT

(A) el (B) TMRE Q)
Introducing Sarath, Anila said, '
related to Anila ? o '_ " ([)) Unclc
(A) Nephew (B) Son-in-layy (€) Cousi

65. Hﬂ%@ﬁawmﬁq—m%@maﬁlﬁﬁma’” 87

2and 16 ?
What is the smallest posmve integer that% divisible by both 12

-is Sarath
He is the son of the daughter of the father of m)( uncle”. How.is
“He is

- R T

) oD%
(A) 60 ® 16 4 &) 48 2 -
66. IRt TRy I vy | d

Find the next figure. 4

.
67. 1,11, Illﬁ"ltwmmaﬁmﬁmwﬁﬁqaﬁtﬁa‘mﬁaﬂ P—Hiﬁﬁ élﬁﬂlq ( B
S( t1)1d h(e ) ob ﬁ h efin o estab h h 1 tonshl between them.
y the problem figures marked I, II and IV carefully to establish the relati p

t ropriately
From the answer figures marked (A)"(}B), (C) and (D), pick out the figure which most approp
completes the series.

D=1 | B2 =| ?
I 11 111 3;8‘ : - '_
(A) g u : ®) Al g © = — |
68. 3T SR I TR ST ¥ g

|
Identify the figure that completes the pattern.

a».%;

VAN




Foq e feeet 3 3 e o o < R it ifee ot 3 v 3 o ey 3vges 2 |

¥

?

(A)

How many squares can you count in the figure ?

.ﬁawﬁﬁmaﬁﬁqm%q

i<:>

(B) /

71.

72.

73.

(A) 20

1
]

st 14

HIGTA AT

YR : TEAT - 32t ; ?
(A) 3TshreRT
Complete the analogy :
India : Asia :: Italy : ?
(A) Affica

sy 3 ST He T €l ?
@l : 9,27,81,243,

What is

(A) 623

Tt 3meRfal 1 RIS |

(B) uRRN

(B) Asia

’Eexf-pugl/b’er in the series ?
Series : 9, 27, 81, 243,
s (B) 591

Find the next figure.

* ©

m A

B *x
> ©

'@ <

=
*

S FO&

(©)

X

FAN

#O&O

(C) 22@

pes

A O

)

(C) E?fj'pe

%)

In
VSR E

%
© 4%(5

<

From the given options, select the figure which will be most s&ljable to be placed in the last square.

. 3

iz

ﬂo

" (D) 18

(D) ferhfesn

(D) Antarctica

(Dy729

-



74. @W%ﬁaﬁﬂﬁwmm,maﬁmﬁaﬁwﬁsﬁ@ 48 Tt ot e T, | 3un R w36
et ST U 2
A student made twice as many mistakes as he got correct answers. If he attempted 48 questions; 1o total,

how many questions did he get right ?

e
16 ;g(B) 20 x 2
© 12 /D) 18 | 49 [’fﬂt?/uaqﬁb
IR i | ._5.
75. SHHH AMFTAARL : B, E, H, K, _? q
What comes next in the sequence : B, E, H, K, __2¢}:
(A) R "(B) M ey N (D) L
76, AETEN HEAE R L
(a) Ty (B g (C) &% (D) i
@ 1992 AT G o fersiall shid & ?
(A) <. R e fifs X (B S AT
(C) TmfarE Il (D) Teel AGAX
“qfe SuEnt & FH-AT wee Sirs, Rred ue o1 B & Sl
(A) ®R \(By" a sC) e @7 =
79, Fifecr H AT IS »':J
Iy N (B) 3Tdd o) wda (D) TEerT
80.  sifereher Toq & SPI-TT ST S @ 2 E
(A) By Sid {fc) ¥ (D) T
R foFa yh T T3 8 2 <l
\W/W ®) ¥R . (e (D) S X
82, “TT’ IS o1 TAIGATH Y158 TS |
(A) P Fa O D) Fe
83, TITIL:
Wy st (B) sefwEhE (C) SEIIEED (D) Rromfs
84. -G YR FHRAT-FoEIOOT E 2 5
(A) Yeedl (B) LIEY ’”\[2)’%3 (D) Wﬂ
85. ‘m@-qEly H FI-AT HHH G ? 4 :
(Y T (B) wgshfe ;;ECJ fag (D) &
86. ‘3TIS AT Y e’ TAhITh ol o1el AT BT & 2 s :
(A) el T ) TR e
(C) =& (D) 3t s fhufy
87. ' eafy Fope T % S ST & 7
(A) Heh et (B) g ot (©) duan S —
RWUd T T T e 18 0t 24 T e



88. ﬁmﬁ@amﬁwﬁwﬁﬁﬁmmﬁwwmmﬁq'
R et iy et | (S — T A D)

NGy ST (B) STH (© e \o7
89. T~ i wre. g g et ovd g AT
(A) T T @) et - el (_] wcj - Ted (D) el Frprety .
G900, Ty e e A S AN : A4
i, ’(i?z;r WB) TR :ﬁ © TR (D)
@ w8
(A) FEFAR B) I & © e

u. 9. 9278 96 TETV 94 : t’gnﬁm% i e B e
AT TN Y T 3 W 1 g T (T | Tad™ HETs A | . T it
e o7 1 < e | 1 A e e % S, S 5, v, s i
m%ﬁmﬁmﬁﬁﬁmﬁmaﬂtqﬁ%ﬂwwﬁwmﬁaﬁlWﬁﬂjﬁwﬁm‘qﬁms@ww
et 8 ETCT ST ) 35 Fere - Ffor 3 e e 3 & FoTan ) ot Frem YT s o § 1 57 et o
ST Y o T 6 ey S S g ot o T o S | < O S S e e 2
Hmaﬁﬁgﬂﬁ@mmﬁ,m:gaﬁﬁﬁlﬁﬁmﬁmiﬁaﬂaﬁﬁWIaﬁ:gﬁmwmmm
wa’tm%"rﬁfm|-Wﬁ:mwﬁﬁ@ﬁm@%|m%ﬁﬁhﬁsﬁﬁwmﬂiw&
mmmﬁwmﬁqmiﬁlﬁmﬂ%ﬁﬂmmmm%lW%ﬁqﬁ&lvﬁ&?rmmm
T AT 3 T N A A G SR | S % T s 3 L iva e E sy s )
92, W SH T ST TIKh HT Fo ST Hdl GIAT? () ‘

Ay ST Y 3 ifth A e o ’;#t (B) st i fasr &

(C) T & g s fermredien & OO Ffr, w1, fore-o i wim i wfoerat @
93. a%a%%mwuﬁmﬁmwrﬂwmﬁw@i\? -

o

2

(A) aﬁ'%vmﬁwmw%mﬁ @fwﬁ%wﬁaw
(C)  3Taft-oaeft BT & ot ot oh Iewa (D) SAYT-3TTAT FIHH SR S o Iexd |
94, STy 7@ YRR o ferTRTaRTr Bt ¥ iR
SrfererTer S i SHh! W AR A gY  (B) AT AU R AN IR A A TAE N
© W FTEEFE TemaTRE]) (D) A W rEE ot yEnd S IR R

95.  H TRITY T ST e TG 7 (%
@A) FradverE fde gf, (B P ot fowa i
(C) T SR TS &1 ¥ O O feeft forva 7 0 fensfifient
96. wmmmﬁmﬁwm <
(A) e e 3 (B) =3 2t o reeas wiereqat
(@ wifed v \PY IR & fmer
97. wmwuﬁmmﬁﬁw,maﬂrw%m@m%mﬁqmmWW%?
FEE -, B) PeEmr e (D) waaTd
KWU-24 T i TG o ad T e

P
b




98. ﬁq%f@ﬁﬁﬁﬁ?-mamwﬁ—q—w%?
() Fremeem - (g) e
9. mﬁﬁ%ﬁ?—mﬁﬁﬁm%?

(A) ger 7o e e 9 i SEEIEIREEN
© ey, \Br T

C] (D) @HWW@T%?

100. ai‘!:r-mm‘wwwaﬁwmé? o

A R \BY T QA © T (D) TS
101, FrerRifm it & . s yis

(A) 3mg (B) w9 g] (C) a7 \eoy e
102. et & & ar sy a0 2 9 Q

(A) =T ¥ B) 3 g © =X wr'H
103. BAG I Foar s o 3

(A) T (B) W Ny ST ®

104. 77 f35a1 3 avef o v et arelt S 2

(A) SomiEfET (B) A S A Oy T B (D) ATEe fipar
7 :
\ ‘T YRAThTA” BT il HATHR R & 9 o
(A) HET GIeldT (B) 3TN QA  (© et wj/a'ﬁﬁ@véaam
106. 3USTE T BISH IUIHTET F 7&r F 717 frg fd o 2 9

(A) EHifedT (B) wafem 5 © et (D) TgEHfcT
107. 37 Y131 o foTw weh wrea o1 = i - )’
[ECEASIEREIReCY <]
(A) U= (B) etfeia (€) T N@y” e
108. Frefefad sy o fore @&t geran sany |
it fidt et & @fsta s 17
(A) wEHEY S AT O By I B
(C) Fq I ) i e
109. ‘ﬁwm’%aﬁﬁm?ﬁﬁﬁﬁwmﬁﬁé?
(A) SrRIge«giam X () B IR H Rt i v
(C) ik I = EIS (D) T T e
110, “3FTST 3 qaTET T & ; Q |
W T (B) &1 ﬂ (C) = (D) wfae
111, ‘FemEa 758 8 5gw T8 ; |
&) T \p ¥ (©) w&w /(D) %
112, ‘3rgyd @ e TE R
(A) IETE (B) & ©) D7 T
KWU 4™ T T T T T T T T hage 17 0f 24T T T e

24¢




113, 7 %5 fre o g
e FepTer apT T R 7
) mwmﬁqa;maﬁmamaawﬁgﬁmﬂﬁfgw
(B)  Tteoer s <y e o FoT STepfe e sheafed

(C) fiamey S 2 R

WW%WWﬁ%mﬁmwwm '

SN
Il;What ways does Green Finance support sustaina
(A) By facilitating the growth of industries known

(B) By encouraging the exploitation of natural resourgf
[nl4]

(C) By funding fossil fuel projects
(D) By providing financial resources for environm

114, R T T S 7 et S ST QS 7

What is the highest GST rate levied on white goods 7¢_|

(A) 28% - (B) 25%
(A) Frer s JuH
) gatEd
India’s largest forest is
(A) Kanha National Park
(C) Sundarbans

116. i

(A) & o By T@H

(A) Vrindavan (B) Barsana
e T ST T 2t e fehe foret A it T 7

(A) TS (B)
In which district was Uttar Pradesh’s first Traffic Pa

(A) Prayagraj ~ (B) Amethi
PMIDY Fe S g5 ?
(A) 30377, 2014 (B) 28 3T, 2014

When was PMJDY launched ?
A) 30" August, 2014 (B) 28" August, 2014

117.

119, freferfaa ¥ & HH-a139 m%mﬂﬁr@ﬁmm@qﬁm%?

(A) SR (B) AR

Which of the following country does not share a lant'i-a
lf Maldives

(A) Bangladesh (B) Myanmar
120. %Hg&'ﬁwﬁﬁﬁw@qﬁ%ﬁwwaﬁ@m
(A) T F1 IS (B) difEamIH IS

ble development ?

‘mﬁ’mm%ﬁmﬁﬁmﬁm EISIRGE

eyl - . q i
‘L athmar Holi’ is a unique celebration observed 1n W

) issions
| carbon emiss! . :
for,tlgl for environmental impact
y .

g without regﬂfd

eﬁﬁilly friendly projects

et

& 12% ) 18%
(

(8] frRTEHA

I
(D) fom sieie T S

(B) Gir National Park

(D) Jim Corbett National Park
T 3Ed & 2
) T (D) T
{ith town of Uttar Pradesh, mentioned below ?
‘(d) Mathura (D) Agra
:!’,\5?’
&y g (D) sEET
i'lr‘cf’—bpened?
{(d) Gorakhpur (D) Ayodhya

l;“:‘
(A) |59, 2015 (D) 2 3K, 2015

(© 15" August, 2015 (D) 2" October, 2015

g(%’)‘ BIGGE] (D) ==
oundary with India ?

' (D) China

g‘?') THIE P IS

Which battle marked the beginning of the British cofo:g al rule in India ?

(A) Battle of Panipat (B) Battle of Wandiwash
121. 1 e AR R e TR ?

F= T S
(C) T ST H I

&3]) Battle of Buxar
@) 7 g e
(D) =t 3t TorerT

(D) Battle of Plassey

What is a significant environmental impact of urbanization ?

(A) Higher carbon emissions
(C) Decreased air pollution

(B) Increased green spaces
(D) Improved water quality




122, YEEAER I163 7 o 2 ©
(A) Pl e o g o
(B) mﬁ%ﬁwgt@ﬁwﬁq&m
(C) T wehmt = Refin wwrem ; '
4TD3’ Wmﬁmﬁmmie%waﬁm%
he term Ransomware means - N
(A)  Unauthorized access to a network i

(B) A malware that moni ity &)
itors user activity
(C) A type of phishing attack i

(D) A software that encrypts files and demghyls a ransom

123. T e, fom wt uem fve ot off et s oft 2
Wy EREn T a= S (B) SIS JHE

.

(C) Y=g (D) Hewd! GLii

Who wrote the book ‘Sadgati’, on which a film was made ? ’

(A) Harivansh Rai Bachchan (B) Jaishankar Prasad

(C) Premchand . (D) Mahadevi Verma
124, e it o s g A R

(A) o i R ey e fiE

©) =wrfiE L

(D) TSl SETgL T

3

Which of the followihg former Indian Prime"E{/[inistcr did not receive the Bharat Ratna ?

i K

(A) P.V.Narasimha Rao ! (B) Manmohan Singh

(C) Charan Singh :ﬁi (D) Lal Bahadur Shastri
125. ST S e SO e ST S T ST R ot 2

(A) @Rfaws - (B) mem | oy (D) e fiacis

First census in India was conducted at the time of which ruler ?

(A) Lord Lytton (B) Sir John Napier (C) Lord Mayo (D) Lord Auckland
126. o o7t & ot o1 SRR Y TS TS (AT S | , "

(A) o (®) L @rTEaERSET ) el -

means taking forceful control of another person’s website.

(A) Spam (B) Hacking %  (C) Webhijacking (D) Phishing
127. wRd aﬂrmﬁm%wmaﬁ%mﬁaﬁg{mw% ?

(A) s (B) T £ N TR (D) Tm

Due to which river has an issue been created hetween India and Bangladesh ?

_ (A) Teesta (B) Yamuna {E} © Brahmaput_ra (D) Ganges

mﬁsagaaﬁﬁsgmm? <

When did World War I begin 2 k

A) 1920 1930 (O/N919 1914
129. %mﬁmmwﬁwm%? A /%

(A) s EEE O (B) g e

(C) T Py fig i wr

The Harappan Civilization is also known by which other name ?

(A) Dravidian Civilization (B) Vedic Civilization

(C) Aryan Civilization (D) Indus Valley Civilization

[-(WU-.-S.’I"-""-, ----------------------- Page 19 of 24




130. %8 & St 35 s b e 82

(A)  Sreer forgrdy arriedt B) A, @M

©) A \B7 wE e

Who is known as the father of GST in India ? .
(A) Atal Bihari Vajpayee (B) H.D.Deve Gowda

C) Narendra Modi (D) Manmohan Singh 7
e Gierer i ST 3 Semmg @i ok e 3 AT ReATcE” hr TR

(&) feiges (B T @ X @fre () T ish
Which social media platform introduced the conceptjof “Fleets”, similar to Instagram Stories and Snapcha

Snaps ? <~] '
(A) LinkedIn \(BY” TikTok S0 X (Twitter) (D) Naukri

132. mmwaﬁmﬁaﬁamwﬁww(mﬁ@mﬁﬁﬁgmﬁmwmhm%?
(A) i ) R () S G (©)

. . . . : ific rules ?
Which term describes the process of assigning numbers to observations according to specific

(D) Measurement

(A) Hypothesis Testing (B) Analysis (C) Sampling
133. TS WU &1 -8 S8 arh-wad= (et i wdd) ol e ?

(A) =T 19 (B) T2 (C) =T 14 (P e 21

Which Article of the Indian Constitution deals with tiﬁ_ freedom of speech 7

(A) Article 19 (B) Article 22 { Article 14 (D) Article 21
134, T 5 fofmr et H AT 6 90% SIS ER FaTied B € 4y

(a) i ® wE . (Q W T

\{n which city of India are 90% of the world’s small djgmonds processed ?
(A? Mumbai (B) Jaipur (Q) Baroda (D) Surat
2011\ SO 35 SFAR HRE gt o A <] R

The total forest cover in India as per the 2011 census is g

(A) 23.42% (B) 22.07% - (C) 17.80% (D) 21.05%
136, FH-8T ST YR 7 e, e 39 e T i s 3 e st ST 2, SR o et et el

& foTe e et Ffo ARSI R 2

(&) wFeg B) ¥ G Dy

Which ancient Indian text is known for its detailed tf2&tise on music, dance and drama, and is considered a

foundational work for classical Indian arts ? :

(A) Manusmriti (B) Vedas {€) Arthashastra (D) Natyashastra =
137. fauisa qAfiRior O foma < (IBRD) 1 8 ?

N T T U T T & il 3 e o o T S e &

(B) TE Ueh QU TiTaA & ST AT sifehrT JoTred! s I TR LT &

(C) T2 T ey o §eur & i1 ey <uil it 1ef5/1a Hemar Ser e &

(D) I8 T e el Teen & <t o1 sxawmai b e 01 SeH et X

What is the International Bank for Reconstruction and Development (IBRD) ?

(A) Itis a United Nations agency that focuses on poverty alleviation and social development

(B) It is an international organization that regulates and supervises the global banking system

(C) Itisan international financial institution which provides financial assistance to member countries




138. mm,mﬁﬁ%@hﬁﬁwwﬁmmgq@ﬁ,ﬁww@m%ﬁ@
S7al e e
(B) ifersh &elt & lm
TR = & widhE st 0

The Green Revolution, which significantly incﬁhsed agricultural production in many developing

countries, primarily involved : e
(A) Advanced irrigation techniques . ‘::-l
(B) Organic farming practices Ok
(C) Genetically modified crops ‘:-J |

(D) High-yield variety seeds and chemical fenilize:f}c, ' ) . ‘
@gm%aﬂﬁaﬁaﬁmﬁmwﬁmmw%%mmm%mﬁmﬁﬁmﬁm3'o'E'E“‘ i
: |

(A) AR AT (B) arEH farswor ﬁ
(C) Tormfg argeum (D) WTifiTE HATHEH |
The research that applies the laws at the time of field study to draw more and more clear ideas about the
problem is : O i
(A) Applied research ‘EB) Research analytics ‘
(C) Action research " fufD) Experimental research

140. =i i feraferencrs e fua g 2 : )
(A) wRmEmE By ST H(C) T (D) T Hed
Where is the Central Agricultural Un"i-versity situate@? -~
(A) West Bengal (B) Uttar Pradesh 2©) Manipur (D) Andhra Pradesh

.m%ﬁmqﬁaaaaa@qﬂaﬁqaﬂtaﬁﬁaﬁwaﬁ' it 3 e Al 22
(A) S 3 sl T St e Fewsu &1 STt 3 T S hisd Fh
(B) %m@mﬁm%wﬁﬁﬁaﬂ?mﬁmﬁaﬁﬁm%ﬁ%mmﬁaﬁtﬁﬁﬁaﬁﬁﬁmm

=

() wataeor Rfirrt B e T O AT W S T SR T~

(D) Thteh el T STt STl a1 T |

How does the Arctic Council help in addressing clinghte change and Arctic governance ?

(A) By focusing on promoting economic developghent and resource extraction in the Arctic

: L .
(B) By regulating as a governing body that d;ctatqgi_laws and regulations for all Arctic nations
(C) By levying sanctions on member states who a\"?g not complying with environmental regulations
(D) By coordinating international efforts on Arcti¢fissues

142, T 36 oI T el T 91 2 < -
(A) <SR {ga) TR et It %
ey <. TeE e (D) ST et
Who was the first President of India ? 1
(A) Dr. Zakir Hussain (B) Shankar Dayal Sharma

(C) Dr. Rajendra Prasad (D) Pratibha Patil

KWU-.24 Page 21 of 24




143, WETRIEHR 3§ 2T e @ - N
(A) i arfire (B) et 7T A
T 3 feraTfeRT (D) aqfeyerTe 3t farfeeRR
Human rights entail both :

(A) Rightsand obligations (B Liberties and obligations

(C) Liberties and privileges J (D) Rights and privileges
qﬁﬁﬁﬁmﬁﬂﬁﬁﬁmﬁamﬁmﬁ%-mﬁmﬁﬁ?

144, SpaceX- f(j g
(A) JE A ~“\LB)/ T T
() i st T " (D) ferriie

Who co-founded SpaceX — the first privately ﬁm_:ﬁ?d space programme ?
<f (B) Elon Musk

“' (D) Bill Gates

.,

(A) Jeff Bezos
(C) European Space Agency

145, UNCTAD & T €T FIE ?
() AR i R 3i 7 U S
(B) @@E&wma@@mﬁz
(C) TS TE HFHA 3 ¢ e Saaune
(D) T A el e igSaame ()
What is the full form of UNCTAD ? )
(A) Universal Nations Conference on Trade and H)eve]opment)c

M United Nations Common Trade and Develghment '
(C) United Nations Conference on Trade and Dé\?elopment b
(D) Unique National Conference on Trade and elvelopmentx

@ %ﬂ%wﬁmﬁ;a%mww%ﬁmma@%m &
(A) o IR (B) TSR M) e (D) I g
Who suggested that ‘‘Everyone has a specific blo%:l group”’ ?

(A) Louis Pasteur (B) Landsteiner (C) Mendel

@ Siftea o 3 A1 e & 2
) amrm X By genia ¢ © s X (D) 3R

Sofia is the capital of which country ?

(D) Darwin

o (A) Bangladesh (B) Bulgaria o3 (C) Afghanistan (D) Benin
T I T -8 T8 T o mlaﬂ‘%?ﬁmﬁﬁﬁﬁaﬁqﬁ%?
(A) =R 73 \@)/ IR 75 ?] (C) =8 72 (D) ST=q 74
Which Article of the Indian Constitution deals w;.tl.} the power of the President to grant pardons ?
(A) Article 73 (B) Article 75 {1 © Article 72 (D) Article 74
@ HeahT Tt &1 aTaieh ST © P
(A) Wewl H YATHET (B) H%W%meq WWWWW

The primary aim of a co-operative society is to:
(A) Serve the members (B) Raise more money (C) Earn more profits (D) Raise production'
e e 3 forw Frefefiad & - e Rie e 2

Which of the following institution is responsible for cyber security ?
_____ (A) CERT-In (B) DRDO % (© RAWX) 21 NiA
w24 iy~




